
Görev	Kodlama:		 Örnek1		Kodlama	Anahtarı	

	

	

	

	

	

	

	

Görev	Kodlama:		 Örnek	2	Kodlama	Döngüsü	

	

	

	

	

A+D	motorları	
yüzde	20	hızla	
çalışır.	

Ultrasonik	
sensör,	bir	
nesneye	
olan	
mesafe	20	
cm'den	az	
olana	
kadar	
çalışmayı	
bekliyor.	

Ultrasonik	sensör	
anahtarı,	duvara	
olan	mesafe	20	
cm'den	büyük	olana	
kadar	çalışmayı	
bekliyor.	

Eğer	DOĞRU	ise	
motor	D	yüzde	20	
çalışır	ve	A	motoru	
durur.	

Eğer	YANLIŞ	ise	A	
motoru	yüzde	20	
hızla	çalışır	ve	D	
motoru	durur.	

The	loop	
works	
continuously.	

Döngü	sürekli	
tekrar	yapar.	

A	motoru	
yüzde	50	
hızla	
çalışır.	

A	motoru	
durur.	

D	motoru	
yüzde	50	
hızla	çalışır.	

D	
motoru	
durur.	

Ultrasonik	
sensör,	bir	
nesneye	
olan	
mesafe	20	
cm'den	
büyük	
olana	
kadar	
çalışmayı	
bekliyor.	


